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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate
3. The numbers indicated against the Question ID and Option ID are the numbers to be noted and used for raising objections

Section : Part A

Q1 YWhich vitamin is needed for proper ¢lotting of blood?

Ans o 1. Vitamin K
& 2. Vitamin A
< 3. Vitamin E
X 4 Vitamin D

[— Question ID : 213409556
Option 1 ID : 2134092222
Option 2 ID : 2134092221
Option 3 ID : 2134092224
Option 4 ID : 2134092223

Status : Answered

Chosen Option: 1

Q.2 Who is India's all time leading goal scorer in international football (the record as of October 2018)?
Ans 1. Sunil Chhetri
/< 2. Gurpreet Singh Sandhu

< 3. Bhaichung Bhutia
< 4 Subrata Pal

Question ID : 213409526
Option 11D : 2134092102
Option 2 ID : 2134092103
Option 31D : 2134092101
Option 4 ID : 2134092104
Status : Answered
Chosen Option : 1




Q.3 an object starts from rest at x = 0 m and moves with constant acceleration of 3 my/s? along x axis. During its journey
from x = 13.5 m to x = 54 m, its average velocity is:

Ans  of 1 13.5 m/s

X 2 12.0m/s

X3 85m's

X 4 10.0m/s
Question ID :
Option 11D :
Option 2 ID :
Option 31D :

Q.4 E.F. G.andH are sitting in a row. F and H are adjacent. E and G are adjacent. G does not want to si
F. and H does not want to sit next to E. Which two are sitting at the ends?

Ans X 1. Fand E
X2 HandE
V'3 Hand G
X4 Fand G

Option 41D :
: Not Answered

213409563

2134092252
2134092251
2134092249
2134092250

1 213409620
12134092478
1 2134092479
Option 31D :
Option 41D :
Status :
Chosen Option :

2134092477
2134092480
Answered

3

Q5 YWhere is the famous temple of Angko
Ans < 1. Philippines

v &) Cambodia

& 3. Thailand

&K 4 Vietnam

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

213409531
2134092124
2134092121
2134092122
2134092123
Not Answered

Q.6 Who is the first sportsperson among the below to have won the Bharat Ratna award?
Ans o 1. Sachin Tendulkar

& 2 Leander Paes

< 3. Dhyanchand




< 4. Abhinav Bindra

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID
Status

Chosen Option

1 213409532
12134092125
12134092128
12134092126
1 2134092127
: Answered

1

Q.7 A 12V battery is connected parallel to a 5 Q resistor. Find the current supplied by this battery.

Ans 1. 2:00 A
X228A
V3 24A
X4 15A

Q.8 Which of the following dance forms be
Ans 2 1. Bidesia

< 2. Swang
« 3. Rouf
X 4 Karma
Question ID : 213409535
Option 11D : 2134092140
Option 2 1D : 2134092138
Option 3 1D : 2134092139
Option 4 1D : 2134092137
Status : Not Answered
Chosen Option : --
Q.9 is the most common way ofmnecfmg computers on a network with a wired connection.
Ans o 1. Ethernet
X 2 Wi-Fi
X 3. LAN
#< 4. Internet
Question ID : 213409558
Option 11D : 2134092231
Option 2 ID : 2134092232
Option 3 ID : 2134092230
Option 4 ID : 2134092229
Status : Answered
Chosen Option: 3




Q.1 pow much heat should be transferred to a 100 g block of aluminum (specific heat 900 ]kg_lK_l) to increase its
0
temperature by 10°C?

Ans X 1. 007

V2 90017

X307

& 49000 T
Question ID :
Option 11D :
Option 2 1D :
Option 31D :

Option 41D :

Q.1 A car accelerating for two seconds would cover times the distance of a car accelerating fol
1 (cars starts from rest with the same acceleration in both the cases).

Ans  of 1. four
& 2 two
< 3. one
# 4 three

: Answered

213409564

2134092254
2134092255
2134092253
2134092256

: 213409569
tion 11D : 2134092273
Option 2 ID : 2134092274
Option 3 ID : 2134092276
Option 4 ID : 2134092275
Status : Answered
Chosen Option : 1
LEe—————
Q; Which Indian CM wrote his/her autobiography title gettable Memories"?
Ans o 1. Mamta Banerjee
/< 2. Javalalitha
X 3. Nitish Kumar
X 4 Arvind Kejriwal
Question ID : 213409533
Option 11D : 2134092129
Option 2 ID : 2134092131
Option 31D : 2134092132
Option 4 ID : 2134092130
Status : Not Answered
Chosen Option : --

Q; Find the odd set of letters from the given alternatives.

Ans 1. QRS
v 2 MLK




X 3. FGH
K 4 WXY

Question ID : 213409617
Option 11D : 2134092465
Option 2 ID : 2134092466
Option 31D : 2134092468
Option 4 ID : 2134092467
Status : Answered
Chosen Option : 2

Q.1 Select the option that is related to the third term in the same way as the second term is related to the first term.
4
Tomato : Red :: Leaf: ?

I 1. Green
< 2 Plant

/< 3. Organic
< 4 Flower

ID : 213409602
on1ID 4 408
" Option 24D : 2134092406
’ Optio 34092407

pti D 2134092405

< | Status: Answered
Option: 1

Q.1 Given below is a statement followed by two conclusion to assume evej m
5 statement to be true, even if it appears at variance from co

together and decide which of them logically follow(s) the i

onsider o » usions
emen’
inste: ore exam, then their marks

1. Eight hours of sleep is better than six hours of sleep if a student wants better marks.

Statement:

A research found that if high school students get eight hours of slee
improve by 20%.

Conclusions:

IO Students are stressed as all exams are tough.

« 1. Only conclusion I follows

X 2. Only {:onclusmnllfcﬂ]wg

#< 3. Neither conclusion I nor II follows
#< 4. Both conclusions I and II follow

Question ID : 213409616
Option 11D : 2134092461
Option 2 ID : 2134092462
Option 31D : 2134092464
Option 4 ID : 2134092463
Status : Answered
Chosen Option : 1

061 77 °F is equal to:




Ans  of 1. 25°C
X< 2 10°C
<3 20°C
X4 15°C

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

213409551
2134092204
2134092201
2134092203
2134092202
Answered

1

Q.1 A cando a certain work in 15 days, while
7 working together, A and B can do the same work in 7.5 days. How many days will B alone take to do

Ans 1. 20 days

v 2 15 days
< 3. 12.5 days

& 4 17.5 days

Qu

13409598

1 2134092392

' 21D : 2134092390
tion 31D : 2134092389
Option 4 ID : 2134092391
Status : Answered
Chosen Option : 2
Q.1 When using an isometric view, you line up the drawing along from each other.
8
Ans X 1. 180-degree
< 2. 90-degree
3 120-degree
X 4. 60-degree
Question ID : 213409547
Option 11D : 2134092188
Option 2 ID : 2134092186
Option 31D : 2134092185
Option 4 ID : 2134092187
Status : Not Answered
Chosen Option : --

°é1 Electric current was considered to be the flow of:
Ans o 1. Dielectric

/< 2. Magnet pieces

« 3. Positive charges




& 4 Negative charges

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID
Status

Chosen Option

1 213409575
12134092300

: 2134092298
: 2134092299
: 2134092297
: Answered
14

Q.2 Two postmen, C and D, start walking from a post office. C walks 2 km north, then turns to his right and walks 5 km.
0  Meanwhile D walks 5 km East, turns right and walks 6 km. Where is D with respect to C?

Ans X 1. D is 4 km North of C
X 2 Dis4km South of C
' 3 Dis 8 km South of C
X 4 Dis 8 km North of C

Q.2 Which two signs should be interchanged te
12-3+8x2+4=16

/< 3. isometric
/< 4. parametric

Ans X 1. x and -
& 2 +and -
X3 +andx
V4 +and-
Question ID : 213409608
Option 11D : 2134092432
Option 2 ID : 2134092430
Option 3 ID : 2134092431
Option 4 1D : 2134092429
Status : Not Answered
Chosen Option : --
Q.2 A/An view is an orthographic view that is projected onto any plane other than the frontal, horizontal or profile
2 plane.
Ans o 1. auxiliary
X 2 bevel

Question ID :
Option 11D :
Option 21D :
Option 31D :

213409545

2134092177
2134092179
2134092178




Option 4 ID : 2134092180
Status : Not Answered
Chosen Option : --

Q:;z Which meter is used for the measurement of heat?

Ans 1. Energy meter
&< 2. Ammeter
X 3. Wattmeter
« 4 Calorimeter

Question ID : 213409553

i 2134092212
12134092210
: 2134092211
2134092209
Answered

Q.2 What will be the difference between the compound interest and simple interest on
4 2vyears?

Ans X103 1.50
vz
X3 322
X4 %050

\©
Question ID : 213409584
Option 11D : 2134092335
Option 2 ID : 2134092334
Option 3 ID : 2134092336
Option 4 ID : 2134092333
Status : Answered
Chosen Option : 2

92 The ST unit for electrical resistivity is:
Ans X 1. Volt/meter

< 2. Ampere/meter

& 3 Tesla

v 4 Ohm meter

Question ID : 213409536
Option 11D : 2134092141
Option 2 ID : 2134092143
Option 31D : 2134092142
Option 4 ID : 2134092144
Status : Answered
Chosen Option : 4

Qéz Identify the variable from below that does not describe the behaviour of a gas.

Ans % 1. Temperature




X 2. Volume
/< 3. Pressure
4 Time

Question ID : 213409550
Option 11D : 2134092199
Option 2 ID : 2134092198
Option 31D : 2134092197
Option 4 ID : 2134092200
Status : Answered
Chosen Option : 4

%? When (5)°°! is divided by 126 , the remainder is:

Ans X1 117
V2 125 °

X3 121
X 4. 89

577

2307

4092305

134092306

: 2134092308

atus : Not Answered
n Option : --

Q.2 A 100-gram ball is kept on the top of a building of 70

8 m/s?).

Ans X180 7T
X2 607
V3 707
X 4507

Question ID : 213409541
Option 11D : 2134092164
Option 2 ID : 2134092162
Option 31D : 2134092163
Option 4 ID : 2134092161
Status : Answered
Chosen Option : 3

Q.2 A solid sphere of diameter 12 cm is melted and three shots are prepared. If the diameters of two shots are 6 cm and 10
cm respectively, what is the surface area (in cmz) of the third shet?

Ans X1 327
K 2 487
X3 24m
4 64am

Question ID : 213409578
Option 11D : 2134092310




Option 2 ID : 2134092311
Option 31D : 2134092309
Option 4 ID : 2134092312
Status : Answered
Chosen Option : 4

Q.3 If the unit has one or more moving parts, the extreme positions of the moving parts are indicated in:
0

Ans X 1. Continuous wavy line
« 2. Long dashed double dotted narrow line
& 3. Continuous thick line

< 4 Continuous thin line

1 213409549
2134092196
2134092193

01-3 Ozone at the higher levels of the atmosphere is a prod

Ans o 1. UV radiation acting on Oxy
< 2. UV radiation acting on
< 3. UV radiation acting on
< 4 UV radiation acting on H

Question ID : 213409538
Option 11D : 2134092149
Option 2 ID : 2134092150
Option 31D : 2134092151
Option 4 ID : 2134092152
Status : Answered
Chosen Option : 1

°é3 A bearing or other device is needed to hold the beam in lever/levers.

Ans 1. Class 1 and 3
X 2. Class 2
'3 Class 3
X 4 Class 1

Question ID : 213409560
Option 11D : 2134092240
Option 2 ID : 2134092238
Option 3 1D : 2134092239
Option 4 ID : 2134092237
Status : Not Answered
Chosen Option : --




Q.3 Two resistors. one of 20 Q and the other of 30 Q. are connected in parallel. This combination is connected in series with
3 an 8 Q resistor and a 12 V battery. The current in the 30 Q resistor is:

Ans of 1 0.24 A

X2 036A
X3 0.60 A
X 4 0.90A

Question ID

Option 11D

Option 2 ID

Option 3 ID

Option 4 ID

Status

: 213409566

1 2134092261

1 2134092262

1 2134092263

1 2134092264

: Not Answered

Q.3 Who is elected as the new President of Badminton Association of India ( BAI) in
4

Ans 3 1. P. Gopichand

' 2. Himanta Biswa Sarma
< 3. Prakash Padukone
X 4 Saina Nehwal

1 213409534

' 2134092135
ption 2 1D : 2134092134
ption 31D : 2134092133
Option 4 ID : 2134092136
Status : Not Answered
Chosen Option : --
Qé3 The graph of 2x = 5 - 3y cuts the x-axis at the ue of (2a+B) is:
Ans X 1.2
25
X33
X4 8
Question ID : 213409589
Option 11D : 2134092353
Option 2 ID : 2134092355
Option 3 ID : 2134092354
Option 4 ID : 2134092356
Status : Not Answered
Chosen Option : --

Qé3 The LCM of two numbers in 48. Their ratio is 2 ; 3. What is the sum of the numbers?

Ans of 1. 40
X2 24
X 3 30
X 4 48




Question ID : 213409581

Option 11D : 2134092323
Option 2 ID : 2134092324
Option 31D : 2134092322
Option 4 ID : 2134092321

Status
Chosen Option

: Answered
01

°7-3 When you convert one inch from British to SI unit, it becomes

Ans X 1. 0.254
K2 254
X312
o254

Qé3 What is the least number which, when multi

Ans 1. 2
v27
~<3 14
X4 4

ClII.

13409537
21340921

Question ID : 213409597
Option 11D : 2134092387
Option 2 ID : 2134092388
Option 3 1D : 2134092385
Option 4 1D : 2134092386
Status : Answered
Chosen Option : 2
—
Q.3 IfC % D means C is the mother of D, C § D means C is the wife of D, and if C & D means C is the son-in-law of D,
9 then what does W % X $ Y & Z mean?
Ans 5 1. W is the daughter of son of Z
v 2 Z is the husband of W
X 3. Z is the wife of W
/< 4. Z is the daughter of W
Question ID : 213409609
Option 11D : 2134092435
Option 2 ID : 2134092433
Option 3 1D : 2134092434
Option 4 1D : 2134092436
Status : Answered
Chosen Option : 2




@4 Reflection of the point (2,3) on the X-axis is:
Ans X1 (-2,3)

v 23

X3 (-2,-3)

X 4 (3,2)

Question ID : 213409588
Option 11D : 2134092350
Option 2 ID : 2134092351
Option 31D : 2134092349
otion 4 1D : 2134092352
: Answered

Q.4 A steel rod with the thermal conductivity of 50.2 W/(m- K) has an area of cross-section 0.02 m? and leng
two ends of the rod are maintained at a temperature difference of 300 °C, the rate of heat

Ans of 1. 2.0KJ/s
X 2 1.0Kkl/s
X3 4.0klis
X 4 3.0KkIs

1 213409565

1 2134092258

Option 2 ID : 2134092257

Option 3 1D : 2134092260

Option 4 1D : 2134092259
Status : Not Answered

Chosen Option : --

Qé“ What is the minimum number of lines requi e the given image?

Ans o1 0
X211
X310
X412

Question ID : 213409619
Option 11D : 2134092474
Option 2 ID : 2134092475
Option 31D : 2134092473
Option 4 ID : 2134092476
Status : Not Answered




l Chosen Option :

- J

Q.4 The ages of X and Y are in the ratio 4 : 5. After 6 years, the ratio will become 6 : 7. What is the current age of Y (in

3 years)?

Ans X1 20
K25
V'3 15
X410

Question ID :
Option 11D :
Option 21D :
Option 31D :

Q.4 A 0.5 kg ball is released from the top of a building of height 20 m. Find the kinetic energy of the ball, ju:

4 the ground (assume g= 10 m:’sz).

Ans X 1. 807
X2 407
X3 207
V1007

%4 What is the mean of 2. 5, 8, 14, 21?

Ans of 1. 10
K209
X385
X495

12134092398
: Answered

213409600

2134092400
2134092397
2134092399

Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

1 213409542
1 2134092167

2134092166
2134092165
2134092168
Answered

4

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

213409595
2134092380
2134092378
2134092377
2134092379
Answered

1

@4 Which country does not form a part of the Middle East?

X 2. Yemen




& 3. Turkey
' 4 Honduras

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

213409529
2134092115
2134092113
2134092114
2134092116
Answered

3

Q.4 A series is given, with one number missing. Choose the correct alternative from the given ones that will complete the
7 series.

0.35, 0.49, 0.63. 0.77, 7, 1.05

Ans 1. 0.83
V2 091
X 30,95
X 4 0.87

1 2134092415

: Not Answered
@4 A continuous and closed path of
Ans X 1. Magnetic circuit
& 2. Junction
#< 3. Short cireuit
' 4 Electric circuit
Question ID : 213409574
Option 11D : 2134092294
Option 2 ID : 2134092296
Option 3 ID : 2134092293
Option 4 ID : 2134092295
Status : Not Answered
Chosen Option : --

Qé4 The ratio of resistance to overcome to the effort applied is referred to as:
Ans - X' 1. Load

« 2 Mechanical advantage

< 3. Velocity of load

< 4. Velocity of effort

Question ID : 213409561
Option 1 1D : 2134092241




Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

2134092243
2134092242
2134092244
Answered

2

065 What is the maximum number of auxiliary views of any given object?

Ans X1 6
X2 1
<33
« 4 Infinite

1 213409546
: 2134092184

134092182
2134092183

°1'5 What is the mode of 21, 22, 22, 23, 23, 24, 24,

Ans o 1. 24
X222
X3 23
X421
Question ID : 213409596
Option 11D : 2134092384
Option 2 ID : 2134092382
Option 3 ID : 2134092383
Option 4 ID : 2134092381
Status : Answered
Chosen Option : 1
= _— —_—

Q.5 In how many years will the amount of 7 1200 dq_;b_i_gtgself under compound interest system of 4% p.a.?
2

Ans X1 18.5
v 2 17.67
31933
X4 20

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

Chosen Option :

213409585
2134092340
2134092339
2134092338
2134092337
Answered

4

Q.5 How much does the 2nd diagonal of a rhombus measure if the area is 96 sq em and the 1st diagonal measures 6 cm?
3




Ans 1. 24 cm
& 2 48 cm
V'3 32cm
& 4 16 cm

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status

Chosen Option :

213409583

2134092330
2134092332
2134092331
2134092329

: Answered

3

Q.5 First aid for strains, sprains and contusions is packaged in the abbreviation RICE, which stands for Rest
4 Compression and:

Ans 1. Expert

< 2. Expand
' 2 Elevation
& 4 Explain
12134092220
12134092218
12134092217
Option 4 ID : 2134092219
Status : Answered
Chosen Option : 2
Qé5 When you double the speed of a car, it takes imes distance to stop it.
Ans X1 two
X 2 three
W 3. four
X 4 one
Question ID : 213409568
Option 11D : 2134092270
Option 2 ID : 2134092271
Option 31D : 2134092269
Option 4 ID : 2134092272
Status : Answered
Chosen Option : 1
4

Q.5 If we compare the effort arm length with the load arm length in a class 3 lever, then which of the below is true?
6

Ans 1 effort arm length can be greater than,
* equal to or less than the length of the load arm

X 2 effort arm length is always = load arm length
« 3 effort arm length is always < load arm length




< 4 effort arm length is always = load arm length

Question ID :
1 2134092236
1 2134092235
Option 31D :
12134092233

Status :
Chosen Option :

Option 11D
Option 2 ID

Option 4 ID

213409559

2134092234

Answered
3

X 2. POP

' 3. Hard disk

X 4 Modem

Ans

X1

Q5 is diffen
g Choose the figure that is diffe
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Q5 : ; g e :
5" The physical place where a computer stores information is called:
Ans X 1. Wi-Fi

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

: 213409621
12134092484
12134092481
1 2134092482
12134092483
: Answered
Chosen Option :

3




°9-5 sec 30°+cos 30° =7

Ans o 1. 74306
X 2 7/6
K3 743

X 4 43/6

213409590

2134092357
2134092359
2134092360
2134092358

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

@6 Identify which of the below is not a Class 3 lever.
Ans 1. Tweezers
' 2. Wheelbarrow
< 3. Hockey stick

: Answered
01

< 4 Stapler
1 213409562
1 2134092248
Option 2 ID : 2134092247
Option 3 ID : 2134092246
Option 4 ID : 2134092245
Status : Answered
Chosen Option : 2
==
Q.6 Inacode language, 379 means 'wood makes chair', 389 means 'wood eans 'table and chair'. Find the
1 code for 'and'.
Ans o 1 2
X227
<38
X409
Question ID : 213409605
Option 11D : 2134092419
Option 2 ID : 2134092417
Option 31D : 2134092418
Option 4 ID : 2134092420
Status : Answered
Chosen Option : 1

46 What is the length of a diagonal of a cube whose side is 3 cm?
Ans X 1. 4.5cm

K 2 6cm

X3 4cm




v

4 3y3icm

Question ID
Option 11D
Option 2 ID

Option 31D :
Option 41D :
Status :

Chosen Option

1 213409582
12134092328
1 2134092325
2134092326
2134092327
Answered
14

Ansx

Q.6 e 1
5 Good housekeeping is fundamental to:

1. Work permits

+ 2. Good safety
/< 3. Bad safety
#< 4. Machine guards

Qf In the Punjabi festival of Lohri,
Ans 1 Adr

X 2. Earth

v 3 Fire

X 4 Water

- Not Answered

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

213409528
2134092110
2134092109
2134092112
2134092111
Answered

3

5

Ans x1
X2
v &
X 4

-3 960
- % 840
- % 800
- Z 1000

Q.6 An article was sold for 760, which incurred a loss of 5%. What is the cost price of the article?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

213409579

2134092315
2134092314
2134092313
2134092316




Status : Answered
Chosen Option: 3

Q.6 Decide whether the data provided in the statements mumbered T and 11 is sufficie wer the givel

Question:

‘What is the ratio of boys to girls in a class?

Statements:
I. There are 20 boys in the class.
II. The ratio of girls to the number of students in

Ans of 1.

Statement IT alone is sufficient
/< 2. Neither statement I nor IT i
X s

Statement I alone is sufficient while I
X 4 Either statement I or II is sufficie

o) sufficient

066 “Pathfinder”, an American Spacecraft, landed on the planet in 1997.
Ans 1. Moon
X 2. Venus
' 3. Mars
< 4. Tupiter
Question ID :

Option 11D :
ption 2 1D :

213409527
2134092105
2134092107
1 2134092106
: 2134092108

Question ID : 213409615
Option 11D : 2134092458
Option 2 ID : 2134092460
Option 3 ID : 2134092457
Option 4 ID : 2134092459
Status : Answered
Chosen Option : 2
Q.6 Three resistors 80 Q, 120 Q and 240 Q, are connected in parallel. A 12 V battery is connect across this combination of
8  resistors. Find the current drawn from the battery.
Ans X'1.0.09 A
X23A
<3 09A
v403A
Question ID : 213409573
Option 11D : 2134092292
Option 2 ID : 2134092290
Option 31D : 2134092291




Option 4 1D : 2134092289
Status : Answered
Chosen Option : 4

Q.6 Inthe question, two statements are given, followed by two conclusions, I and II. You have to consider the statements to
9 be true even if they seems to be at variance from commonly known facts. You have to decide which of the given
conclusions, if any, follow(s) from the given statements.

Statements:
1. Some lemons are yellow.
2. All yellow are lime.
Conclusions:

I No lime are lemon.

II.  Some lemon are lime.

Ans 1. Both conclusions I and II follow

< 2. Only conclusion I follows
« 3. Only conclusion II follows

< 4. Neither conclusion I nor II follows

611
092443
2134092441

1 2134092442
41D : 2134092444

s Status : Answered
sen Option : 3

067 Unscramble the letters in the words g

Ans X' 1. ARERES

X< 2. APEPR
& 3. ENP
4 HCRAI
Question ID : 213409613
Option 1 ID : 2134092452
Option 2 ID : 2134092451
Option 3 ID : 2134092449
Option 4 ID : 2134092450
Status : Not Answered
Chosen Option : --
==
Q.7 When 16 is subtracted from 3 times a number, the result is 8. What is the cube of the original number?
1
Ans 1. 343

X2 216
V'3 512
X 4 125

Question ID : 213409587
Option 11D : 2134092347




Option 2 ID : 2134092346
Option 3 ID : 2134092348
Option 4 ID : 2134092345
Status : Answered
Chosen Option: 3

°é7 If WICKET is coded as UGAICR, then how will MAD be coded as?

Ans X1 WDV
X 2 EDC
& 3 PKN
v+ KYB

1 213409606
) : 2134092422

Q.7 e i 3
s AXYZisright angled at Y. If £X =45°, then

ps K12 o
V2 °
X3 22
K422
Question ID : 213409591
Option 11D : 2134092364
Option 2 1D : 2134092362
Option 3 1D : 2134092361
Option 4 ID : 2134092363
Status : Not Answered
Chosen Option : --
e ——
Q.7 Given below is a statement followed by two assumptions numbered I and II. You have to decide which of the
4

assumptions is implieit in the statement.

Statement:

Five-day week will reduce stress on employees.

Assumptions:
I.  Employees are always stressed due to personal issues.

II.  Five-day week is the new global trend.

Ans 1. Neither assumption I nor II is implicit
< 2. Both assumptions I and II are implicit
< 3. Only assumption I is implicit

< 4. Only assumption II is implicit




Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

213409625
2134092500
2134092499
2134092497
2134092498
Answered

-

Q.7 If G+ H means G is the sister of H; G - H means G is the daughter H and G * H means G is the wife of H, which of the
5 following shows that Q is the father of P?

Ars 1L P=R+5%*Q
X2P*R+S8-Q
X3 P*R-S+Q
¥4 P+R-8*%Q

Q.7 Pipe A fills a tank at 50 m>hour. Pipe B takes 4 hours to fi
6 hours. What is the volume of the tank?

Ans  of 1200 m?
X2 225 m?
X 3 150 n¥
X 4100 n¥

213409610

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

213409593
2134092372
2134092370
2134092371
2134092369
Answered

1

Q.7 Which of the following venndmgramsbnﬁwms the relationship between carnivores, lions and tigers?

7

Ans




Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

213409614
2134092455
2134092454
2134092456
2134092453
Answered

4

@7 What is the value of 10% of 110% of 110?

Ans X1 6.05
V2 11.55
X3 18.15
X121

1 2134092376
12134092374
: Answered

Q.7 Select the combination of numbers so that the jumbled |
9 word:

OHREMT

123456
Ans (1. 6,13,54.2
X 2 3,4,6,12.5
X3 243615
4516243

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

213409612
2134092448
2134092446
2134092445
2134092447
Answered

4

Q.8 A and B can do a certain work in 12 days, B & C can do the same work in 15 days, while A and C can do the same work
0  in 36 days. In how many days will all three together complete that work?

Ans o 1. 11.25 days
< 2. 11.20 days




& 3. 10.75 days
< 4. 11.15 days

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID
Status

Chosen Option

1 213409599

1 2134092396
1 2134092395
1 2134092393
12134092394

: Answered
01

Q.8 A villager walks 8 km North, then turns East and walks 2 km, then turns South and walks 5 km, then turns to his right
1 and walks 2 km. Where is he now with reference to his starting position?

Ans 3 1. 13 km North
< 2. 3 km South
< 3. 13 km South
' 4 3 km North

Q.8 An article was sold for ¥ 642 when the cost
2

Ans of 1. 0.07
X 2.0.065

X 3.0.05
X 4.0.06

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status:

Chosen Option :

213409580
2134092320
2134092319
2134092317
2134092318
Answered

1

Q.8 A tank can be filled in 9 hours. Because of a leak, it takes 10 hours to fill. In how much time will the leak alone empty
3 the full tank?

Ans 3 1. 80 hours

< 2. 60 hours

« 3. 90 hours

< 4 75 hours
Question ID :
Option 11D :
Option 21D :

Option 31D :

213409592

2134092368
2134092366
2134092365




Option 4 ID : 2134092367
Status : Answered
Chosen Option : 3

98 If a three digit number 7X6 is divisible by 11, then the value of X is:

Ans 1.3
v 2
X3
X4 4
Question ID : 213409576
Option 11D : 2134092303
21D : 2134092302
- 2134092301
2134092304
Answered
0 2
-
Q.8 _
5 One horse-power (hp) 1 hp = W.
Ans  of 1. 746 o
X 2 846 °
- 1O
X 4500 \

Question ID : 213409540
Option 11D : 2134092159
o Option 2 ID : 2134092160
Option 31D : 2134092158
Option 4 ID : 2134092157

Status : Answered
Chosen Option : 1

Qéa Identify the substance from the below having highest specific heat capacity.

Ans  of 1 Water
X2 Aluminium
X 3 Ice

< 4. Kerosene

Question ID : 213409552
Option 11D : 2134092208
Option 2 ID : 2134092206
Option 3 ID : 2134092207
Option 4 ID : 2134092205
Status : Answered
Chosen Option : 2

Q7-8 are those dimensions that should not necessarily appear on the drawing.

Ans 3 1. Functional dimensions




< 2. Non-functional dimensions

< 3. Object dimensions

2 Auxiliary dimensions

Question ID : 213409548
Option 11D : 2134092192
Option 2 ID : 2134092191
Option 31D : 2134092190
Option 4 ID : 2134092189
Status : Not Answered
Chosen Option : --

Q.8 Ina certain code language, '+ represents 'x', '-' represents '+, 'x' represents '+' and '+ represents '-'. Find out the answe;
8 tothe following mathematical expression in that language:
2-6x3+4="7

Ans 1. g
K22
X312
v 10

12134092427
12134092428
1 2134092426
Status : Answered
osen Option : 4

Q.8 The acceleration due to gravity on the Moon is (1/6) of that

9 will weigh on the Moon.
Ans of 1 2N

X2 6N

X3 12N

X4 72N
Question ID : 213409543
Option 11D : 2134092169
Option 2 ID : 2134092170
Option 31D : 2134092171
Option 4 ID : 2134092172

Status : Answered
Chosen Option : 1
Ea——— &

Q.9 A series is given, with one term missing. Choose the correct alternative from the given ones that will complete the
0 series.

XWV, TSR, PON, LKJ, ?
Ans X 1. DEF
X2 K

& 3 ILMO
« 4 HGF




1213409603

1 2134092412
1 2134092410
12134092411
: 2134092409
: Answered
14

Question ID

Option 11D

Option 2 ID

Option 31D

Option 4 ID

Status

Chosen Option

Q.9 . _ ;
p 1 kilowatt hour (kWh) of energy=_ joule.

Ans X1 18108
X2 36x 10
X3 18x10t
¥4 36 %108

@9 Who is popularly known as "The
Ans X 1. Kanu Desai

< 2. Abanindranath Tagore
X 3. Ramkinkar Baij

« 4. M. F. Hussain

213409539

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

213409530
2134092117
2134092118
2134092120
2134092119
Not Answered

.9 = ' oy | o = .
9° The density of an ideal gas can be doubled by halving the:

Ans 5 1. Pressure

< 2. Mass

' 3. Absolute temperature

X 4 Velocity
Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

213409544
2134092173
2134092175
2134092174
2134092176
Answered




l Chosen Option : 3 J

@9 The resistance of a uniform metallic conductor is

Ans X 1. inversely proportional to its electrical resistivity
« 2. inversely proportional to its area
< 3. inversely proportional to its length
< 4. directly proportional to its area

Question ID : 213409571
Option 11D : 2134092284
Option 21D :

31D : 2134092281
: 2134092282

2134092283

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

213409622
2134092485
2134092488
2134092487
2134092486
Answered

1

@9 Find the odd word from the given alternatives.
Ans X 1. Venus

X 2 Earth

'3 Sun




X 4 Mars

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

213409618
2134092471
2134092469
2134092472
2134092470
Answered

3

Q.9 Select the option that is related to the third number in the same way as the second number is related to the first number.
7 1357:64::113579:7

Ans  of 1. 125
K25
X3 25
X 4 625

9 K- 12+ @-2%=@—1)(y-2) whe

Ans X1 5
V238
K31l
X4 7

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

213409586
2134092341
2134092343
2134092344
2134092342
Not Answered

Qé9 Find the velocity (in m/s) that a car will achieve after 20 seconds if it starts and accelerates at 3.2 m/s2.

Ans 1. 72
<2 108

V'3 64
X4 36

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 41D :

Status :

213409570
2134092278
2134092280
2134092279
2134092277
Answered




l Chosen Option : 3 J

Q.1 A cylindrical wire of length L and radius r has a resistance R. The resistance of another wire of same material but of
00 twice its length and twice its radius is:

Ans X 1. 2R
X2 4R
X3 R
V4 R2

Question ID : 213409567

Option 11D : 2134092267
Option 21D : 2134092268
ion 31D : 2134092266
1 2134092265
: Answered

Section : Mechanic Diesel

Q.1 Water sludge is formed in the crankcase due to the mixing

Ans 1. Water and air
# 2 Water and fuel
7 3. Fuel and oil
o 4 Water and oil

Question ID : 213409671
Option 11D : 2134092684
Option 2 ID : 2134092682
Option 31D : 2134092681
Option 4 ID : 2134092683

Status : Answered
Chosen Option : 4

—— e—

Q2 WWhat is the function of a clutch?
Ans X 1.
Engage and disengage ﬂ:;le_;qu_ar'between the differential and axle.
X 2
Engage and disengage the power between the gearbox and propeller shaft.
e
Engage and disengage the power between the gearbox and the driveshaft.
v 3
Engage and disengage the power between the engine and gearbox.

Question ID : 213409670
Option 11D : 2134092679
Option 2 ID : 2134092678
Option 3 ID : 2134092680
Option 4 ID : 2134092677
Status : Answered




l Chosen Option : 4

Q3 WWhich of the following is an engine coolant property
Ans X 1. Low thermal stability

< 2. Low thermal conductivity

W 3 Low freezing point

/< 4 Low thermal specific heat

Q4 YWhat is the main function of lubricant oil?
Ans o1 To reduce the friction
/< 2. To make a sludge

< 3. To reduce the temperature

Question ID :
Option 11D :
Option 21D :
1 2134092609
) : 2134092610

213409653
2134092612
2134092611

< 4 To clean
uestion ID : 213409678
Option 11D : 2134092711
Option 2 ID : 2134092709
Option 31D : 2134092710
Option 4 ID : 2134092712
Status : Answered
Chosen Option : 1
—_— —
Q5 The connecting rod connects the cranksh d the
Ans X 1. Cylinder block

/< 2. Cylinder head

X 3. Camshaft

' 4 Piston
Question ID : 213409658
Option 11D : 2134092630
Option 2 ID : 2134092629
Option 3 ID : 2134092632
Option 4 ID : 2134092631

Status : Answered
Chosen Option : 4

@6 Detonation leads to which of the following?
Ans o 1. Knocking sound




X 2 Late start
< 3. Oil leakage

< 4. Stopping of the engine

Question ID : 213409684
Option 11D : 2134092735
Option 2 ID : 2134092733
Option 31D : 2134092734
Option 4 ID : 2134092736
Status : Answered
Chosen Option : 1

Q7 Thermocouple made up of:

Ans X 1. Tungsten - Copper
/X 2. Ferrous - aluminum
v 3 Nickel - Chromium
X 4 Ferrous - Chromium

1 2134092554

o 1 2134092553
S

tatus : Answered
en Option : 4

Q.8 An air lock in a fuel feed system is r
Ans X 1. Electrical fuel pump

2. Priming pump

< 3. Water pump

X 4 Oil pump

Question ID : 213409687
Option 11D : 2134092745
Option 2 ID : 2134092746
Option 3 1D : 2134092748
Option 4 ID : 2134092747
Status : Not Answered
Chosen Option : --

Q9 Term ‘lobes’ is related to following engine components:
Ans 1. Piston

' 2. Camshaft

/< 3. Connecting rod

X 4 Valve

[ Question ID : 213409643



Option 11D

1 2134092569
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

2134092571
2134092570
2134092572
Not Answered

061 What is the correlation between the clutch and the flywheel?

Ans X 1. Support timing gears

v
Serve as mounting and frictional surface for clutch assembly

< 3. Drives the camshaft
/< 4 Control crankshaft end play

@1 A two - stroke engine has ports i
Ans o 1. Crankcase
/< 2. Piston rings
X 3. Piston
W 2 Cylinder walls

213409669

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

213409672
2134092688
2134092687
2134092685
2134092686
Answered

4

Q1 Which of the following is NOT a part of a gas turbine?
Ans o 1. Piston

X 2. Combustion chamber

X 3. Turbine

75 4. Compressor

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

213409674
2134092696
2134092694
2134092695
2134092693
Answered




l Chosen Option : 1

Q; The high fuel consumption of a diesel engine may be due to a / an:
Ans  f 1. leakage of fuel in the fuel injection pump

< 2. defect in the lubrication system

< 3. air leakage in the intake manifold

< 4. defect in the cooling system

Question ID :
Option 11D :
Option 21D :

1 2134092796
: 2134092795

213409699
2134092793
2134092794

Answered

Q.1 What among the following is the maximum voltage for a fully-charge
4

Ans X1.12.4V
V2 14.4V
X314V
Xa12v

: 213409644
Option 11D : 2134092574
Option 2 ID : 2134092575
Option 3 ID : 2134092576
Option 4 ID : 2134092573
Status : Answered
Chosen Option : 4
==
°é1 Pre - combustion chambers are used in w of the following?
Ans 1. Direct injection (DI) engine
« 2. Indirect injection (IDI) engine
< 3. Common rail directttgﬂctmn (CRDi) engine
75 4. Multi point fuel injection (MPFT) engine
Question ID : 213409660
Option 11D : 2134092637
Option 2 ID : 2134092638
Option 3 ID : 2134092640
Option 4 ID : 2134092639
Status : Not Answered
Chosen Option : --

Q.1 ; o
¢ lurbochargers are operated by which of the following?
Ans X 1. Electrical motor




X 2. Camshaft
+ 3 Exhaust gases
X 4 Crankshaft

Question ID :

Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

213409681
12134092721

12134092723
12134092724
12134092722
: Not Answered
Chosen Option :

°7'1 What is the shape of the cross section of the connecting rods?

Ans % 1. C - shaped
< 2. J-shaped
' 3 1-shaped
< 4 L - shaped

Status

12134092663
: 2134092664
: 2134092662
: Answered

osen Option :

3

Q;; Dynamic oil seals are used at:
Ans 1. Low - pressure oil supply
' 2. High - pressure oil supply
< 3. Low - pressure fuel supply
X 4. High - pressure fuel supply

Question ID :

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

213409635
2134092538
2134092537
2134092540
2134092539
Not Answered

&' For car washing, water pressure normally should be:

Ans & 1. 50 — 60 bar
& 2120 - 140 bar
'3 100 - 110 bar
& 4 70—80 bar




Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

213409630
2134092517
2134092520
2134092519
2134092518
Not Answered

@2 The inlet valve is made up of which of the following?
Ans 1. Nickel - chromium steel
< 2. Aluminium alloy
# 3 Silicon - chromium steel
< 4. High carbon steel

°1'2 Intercooler is used in a vehicle wi

Ans 1. Alternator
« 2. Turbocharger
& 3. Clutch

/< 4 Radiator

213409662

13409

1 213409

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

213409654
2134092616
2134092614
2134092615
2134092613
Answered

2

&2 A high oil consumption is due to which of the following?
Ans 1. Defect in air intake system

/< 2. Poor cooling system

+ 3. Worn out of piston rings

/< 4 Less compression pressure

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

213409700

2134092800
2134092798
2134092797
2134092799

Status : Answered




l Chosen Option : 3 J

Q:;z A self-starter is also called as a

Ans X' 1. Cut - out
& 2. Self - relay

' 3 Cranking motor
< 4 Voltage regulator

Question ID : 213409698
Option 11D : 2134092790
Option 2 ID : 2134092789

1.3 ID : 2134092792
1 2134092791

@2 Pistons are made up of which of the following
Ans X 1. Cast iron

X 2. Brass

X 3. Steel

4 Aluminium alloy

42 Vehicular emissions are measured in whi
e 1 g/ km

X2 Kg/ em?

K3N/m

X4 Kg/ km

: 213409664
Option 11D : 2134092653
Option 2 ID : 2134092656
Option 3 1D : 2134092655
Option 4 ID : 2134092654

Status : Answered
Chosen Option : 4

the following units?

Question ID : 213409692
Option 11D : 2134092766
Option 2 ID : 2134092765
Option 31D : 2134092768
Option 4 ID : 2134092767
Status : Answered
Chosen Option : 1

@2 Which chisel is used for cutting key - ways?
Ans &< 1. Flat chisel




< 2. Diamond point chisel
< 3. Round nose chisel
4 Cross - cut chisel

Question ID : 213409629
Option 11D : 2134092513
Option 2 ID : 2134092516
Option 31D : 2134092515
Option 4 ID : 2134092514
Status : Not Answered
Chosen Option : --

Q.2 Which of the following devices is used to give the specified torque value for bolt and nuts?
7
Ans 1. Pipe wrench
< 2. Ring spanner
' 3. Torque wrench
/< 4. Box spanner

1 2134092535

2134092533
‘ Status : Answered
osen Option: 3

92 What is the full form of EDC?

Ans 1. Electronic direct control
' 2. Electronic diesel control
& 3. Electric diesel control
< 4. Electric direct control

Question ID : 213409691
Option 11D : 2134092761
Option 2 ID : 2134092764
Option 31D : 2134092763
Option 4 ID : 2134092762
Status : Answered
Chosen Option : 2

°9'2 Marine engines are started with the help of which of the following?

Ans 1 Compressed air
& 2. Starter motor
< 3. Alternator

/& 4 Handle

Question ID : 213409689




Option 11D : 2134092753
Option 2 ID : 2134092754
Option 31D : 2134092755
Option 4 ID : 2134092756
Status : Not Answered
Chosen Option : --

063 Which one of the following locking devices is used to lock the air cleaner?

Ans o 1. Wingnut
5 2. Circlip
/< 3. Split pin
< 4. Cotter pin

13409628
2134092511

213409
21340

: 213409

: Not Answered

Q.3 : : :
- A pressure cap is used in which of

Ans 5 1. Lubrication systems
' 2. Cooling systems
< 3. Air conditioning systems
< 4. Fuel systems

Question ID : 213409675
Option 11D : 2134092697
Option 2 ID : 2134092698
Option 31D : 2134092700
Option 4 ID : 2134092699

Status : Answered
Chosen Option : 2

Qé3 What should be done if the ah;gmato:i’g‘-mﬁﬂucmg low current due to shorting of the diode?

Ans 5 1. Change the voltage regulator
< 2. Repair the wiring

« 3. Change the diode

/< 4. Tighten the belt

Question ID : 213409696
Option 11D : 2134092781
Option 2 ID : 2134092782
Option 31D : 2134092784
Option 4 ID : 2134092783
Status : Not Answered




l Chosen Option : -- J

93 Which of the following is used as an antifreeze chemical in coolants?
Ans 1. Sulphur

K 2 Lead
X 3. Kerosene

« 2 Ethylene glycol

Question ID : 213409677
Option 11D : 2134092707
Option 2 ID : 2134092706
ion 3 1D : 2134092708
1 2134092705
Answered

Qf A fuse in an electrical circuit “blows’ as a result ¢
Ans X 1. voltage caused by a short circuit
< 2. current flow caused by an open circuit
< 3. voltage caused by an open ci

« 4 current flow caused by a

Question ID : 213409646
Option 11D : 2134092581
Option 2 ID : 2134092584
Option 3 ID : 2134092583
Option 4 1D : 2134092582

Status : Answered
Chosen Option : 3

o

e pE—
Q.3 The exhaust manifold is connected to the eylinder head of the cyl block by which of the following?
5

Ans 2 1. Plastic tube

2. Asbestos gasket
X 3. Rubber seal

/< 4. Iron pipe

Question ID : 213409683
Option 11D : 2134092730
Option 2 ID : 2134092732
Option 3 1D : 2134092731
Option 4 1D : 2134092729
Status : Answered
Chosen Option: 2

@3 Which one of the following instruments is also called as a milometer?
Ans 1. Speedometer




/< 2. Rotometer
/< 3. Tachometer
v 4 Odometer

Question ID : 213409657
Option 11D : 2134092626
Option 2 ID : 2134092628
Option 31D : 2134092627
Option 4 ID : 2134092625
Status : Not Answered
Chosen Option : --

Q7-3 Supercharging in marine engines is used for which of the following purposes?

Ans o 1. To increase the engine power output
/< 2. To increase the fuel pressure
< 3. To decrease the fuel pressure

< 4. To decrease the engine power output

134092759
1 2134092760
2134092758
Status : Answered
sen Option: 1

93 The taper shank drills are held on

Ans X 1. chucks

o 2 sleeves

X 3. drift

X 4 vice
Question ID : 213409638
Option 11D : 2134092549
Option 2 ID : 2134092551
Option 3 ID : 2134092550
Option 4 ID : 2134092552

Status : Answered
Chosen Option : 2
e

@3 Which fire extinguisher is suitable for a live electrical fire?

Ans 1. Halon (FE)

' 2. Foam (FE)
75 3. Water filled (FE)
< 4. Liquified chemical

[ Question ID : 213409627




Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

2134092505
2134092507
2134092506
2134092508
Answered

1

@4 A commutator is made of which of the following?
Ans X 1. Brass segments

« 2. Copper segments
< 3. Iron segments

< 4 Aluminium segments

°1'4 A Feeler gauge is used to measure

Ans (1. Width
& 2. Thickness
+ 3 Small gaps & clearances

X 4 Diameter

1 213409
No

13409697
2134092786
213409
21340

swered

o

Chosen Option :

o Question ID : 213409626
Option 11D : 2134092504
Option 2 ID : 2134092501
Option 3 ID : 2134092502
Option 4 ID : 2134092503
Status : Answered
Chosen Option: 3
| —
Q§4 Where among the fo]lowjn{g:js the camshaft in an engine always mounted?
Ans  of 1. Parallel to the crankshaft
#< 2. Vertical to the crankshaft
/< 3. Perpendicular to the crankshaft
/< 4 Incline to the crankshaft
Question ID : 213409668
Option 11D : 2134092669
Option 2 ID : 2134092672
Option 31D : 2134092670
Option 4 ID : 2134092671
Status : Answered

1




Qé“ The size of the inlet valve is:
Ans X" 1. One - fourth of the exhaust valve
« 2. Bigger than the exhaust valve

25 3. Smaller than the exhaust valve
/< 4. Half of the exhaust valve

Option 2 ID

Ans o 1 Solenoid switch
< 2. Toggle switch
& 3. Float switch
< 4. Inertia switch

Qé4 Hacksaw blades with fine-pitched teeth are more eff:

Ans X 1. Soft metal

& 2 Non - metal
#< 3. Thick metal
« 4 Thin metal

Q.4 w . . . «
2 Which of the following switch used in starting system?

Question ID :
Option 11D :
1 2134092641
Option 31D :
Option 41D :
: Not Answered

213409661
2134092644

2134092642
2134092643

1 213409655
12134092617
12134092618
Option 31D :
Option 41D :
Status :
Chosen Option :

2134092620
2134092619
Not Answered

ch of the following?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

213409637
2134092546
2134092548
2134092547
2134092545
Not Answered

@4 Which conductor is used in underground cables?
Ans - 1. Aluminium

X 2 Tin

« 5. Copper




X 4 Lead

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

213409645
2134092580
2134092577
2134092578
2134092579
Answered

3

Ans  of 1. Zinc
< 2 Steel
& 3. Aluminium
< 4. Copper

Q§4 Which component of an engine lub

Ans 3 1. Qil cooling device

Q.4 . . .
5" What is the negative terminal of a dry cell battery made of?

' 2 Dipstick
< 3. Oil pump
X 4. 0il hose
Question ID : 213409680
Option 11D : 2134092719
Option 2 ID : 2134092720
Option 3 ID : 2134092717
Option 4 ID : 2134092718
Status : Answered
Chosen Option : 2
°9'4 What are the Indian vehicular emission standard termed as?
Ans 1. American Standard
/< 2. European Standard
/< 3. Japan Standard
« 4 Bharat Stage Emission Standard
Question ID : 213409693
Option 11D : 2134092771
Option 2 ID : 2134092769
Option 3 ID : 2134092772




Option 4 ID : 2134092770
Status : Answered
Chosen Option : 4

Q.5 -
o, What is the purpose of a thermostat valve?
Ans of 1

It does not allow the coolant to flow through the upper hose to the radiator till the coolant reaches 90° C.

< 2. Tt allows the oil to pump.
g

It does not allow the coolant to flow through the upper hose to the radiator till the coolant reaches 30° C.

X 4
It allows the coolant to flow through the upper hose to the radiato

213409676
2134092701
21340927

Q.s w " "
;. Acetylene gas is dissolved in

Ans X 1. water
X 2. mercury
W 3 acetone
X 4 carbon dioxide

Question ID : 213409649
Option 11D : 2134092593

Option 2 ID : 2134092596
Option 3 ID : 2134092595
Option 4 ID : 2134092594

Status : Not Answered
Chosen Option : --

@5 Which of the following term is related to clutch?
Ans o< 1. Transfer case

/< 2. Universal joint

< 3. Surface plate

« 4 Pressure plate

Question ID : 213409651
Option 11D : 2134092604
Option 2 ID : 2134092601
Option 3 ID : 2134092603
Option 4 ID : 2134092602
Status : Answered
Chosen Option : 4




45 A ballast resistor is used in which of the following systems?
Ans 5 1. Fuel system

' 2. Ignition system

#< 3. Lubrication system

5 4. Cooling system

Question ID : 213409631
Option 11D : 2134092522
Option 2 ID : 2134092521
Option 31D : 2134092524
Option 4 1D : 2134092523

: Not Answered

Q5 - - B
. Pollowing component is part of Gas turbine:
Ans 1. Pitman arm
« 2. Compressor

< 3. condenser
X 4 Axle

: 213409652
: 2134092607
ption 2 ID : 2134092605

Option 3 1D : 2134092608
Option 4 1D : 2134092606

Status : Answered
Chosen Option : 2

c°

Qé5 An Exhaust Gas Recirculation (EGR) valve is u 1 of the following?

Ans X 1. Cooling system
/< 2. Fuel system

#< 3. Lubrication system
« 4 Turbocharger

Question ID : 213409694
Option 11D : 2134092773
Option 2 ID : 2134092775
Option 3 ID : 2134092774
Option 4 ID : 2134092776
Status : Not Answered
Chosen Option : --

°é5 Piston rings are made of which of the following?

Ans X 1. Steel
v 2 Cast iron




< 3. Copper

2 4 Aluminium

Question ID : 213409665
Option 11D : 2134092658
Option 2 ID : 2134092657
Option 31D : 2134092660
Option 4 ID : 2134092659
Status : Answered
Chosen Option : 2

Q7-5 The specification of a welding machine is determined by which of the following?

Ans X 1. Closed circuit voltage
« 2. Output ampere
X 3. Input ampere
< 4 Open circuit voltage

134092597
1 2134092599
: Not Answered

Q5 : - -
g Lhe cylinder head is made of w

Ans X 1. High - carbon steel
/X 2. Brass

< 3. Copper

4 Aluminium alloy

Question ID : 213409659
Option 11D : 2134092636
Option 2 ID : 2134092635
Option 3 1D : 2134092634
Option 4 ID : 2134092633
Status : Answered
Chosen Option : 1

@5 Which of the following is the cetane number of diesel in India?
Ans X 1. 75

V2 52

X330

X420

Question ID : 213409685
Option 11D : 2134092740
Option 2 1D : 2134092739




Option 31D :
Option 41D :
Status :

Chosen Option :

2134092737
2134092738
Not Answered

@6 Which filter is used in the intake manifold of an engine?
Ans 1. Water

X 2 0il

< 3. Fuel

v 4 Air

&© Which oil pump is used in stationary diesel en
Ans o 1. Plunger type

1213409682
: 2134092727

< 2. Gear type

/< 3. Rotary type

5 4. Vane type
Question ID : 213409688
Option 11D : 2134092749
Option 2 ID : 2134092750
Option 3 ID : 2134092751
Option 4 1D : 2134092752

Status : Not Answered
Chosen Option : --
— -— BT

Q.6 Which of the following measuring instruments 1suse&*to measure the distance travelled by the vehicle?
2 :

Ans  of 1. Odometer
#< 2. Tachometer
# 3. Rotameter
/< 4 Speedometer

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

213409640
2134092558
2134092559
2134092560
2134092557
Not Answered

% Which one of these terms is NOT related to a catalytic converter?




Ans X" 1. Lambda probe
< 2. Palladium coating
/< 3. Stainless steel housing
v 4 Inlet manifold

Question ID : 213409695
Option 11D : 2134092778
Option 2 ID : 2134092780
Option 31D : 2134092779
Option 4 ID : 2134092777
Status : Not Answered

Chosen Option : --

045 The pressure of the lubricant oil inside an engine is measured by which of the

Ans o< 1. Pressure relief valve
25 2. Main bearing clearance
« 3. Pressure gauge

< 4 Bypass valve

Qu 13409679

1 2134092714
21D : 2134092716
tion 31D : 2134092713

Option 4 ID : 2134092715
Status : Answered
Chosen Option : 3

/

4¢ A tab washer is used for:
Ans X 1. Fastening vibration work
' 2. Avoiding vibration

X 3. Self - locking

< 4 Locking the nuts

Question ID : 213409636
Option 11D : 2134092544
Option 2 ID : 2134092543
Option 3 ID : 2134092541
Option 4 ID : 2134092542
Status : Not Answered
Chosen Option : --

066 Flammable liquids comes under which class of fire?

Ans X 1. Class D
' 2 Class B
K 3 Class C
& 4 Class A




Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

Chosen Option :

1213409632

: 2134092528
: 2134092526
: 2134092527
: 2134092525
: Answered

1

@6 Jerk pumps belong to the
Ans X 1. Bend

& 2. Movable

2 3 slide

« 4 Stationary

category.

Ans  of 1. 1342
< 2 1243
X< 31423
& 41234

QéG What among the following is the firi

21340968

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :
Chosen Option :

213409667
2134092666
2134092668
2134092667
2134092665
Not Answered

Ans o 1. Camshaft

< 2. Connecting rod
# 3. Crankshaft

< 4 Piston

Q‘f Which of the following engine component responsible of valve operation?

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

213409642
2134092568
2134092567
2134092565
2134092566
Answered

1




L J

Q7 : . s P
o Following components is not part of Spark Ignition (SI) engine:
Ans o 1. Glow plug
X 2 Inlet and exhaust valve

X 3. Intake manifold
< 4. Gudgeon pin

Question ID : 213409641

Option 11D : 2134092561
Option 2 ID : 2134092562
Option 31D : 2134092563
1 2134092564
: Answered
1

@7 What is the full form of VVT?
Ans 3¢ 1. Vehicle valve technology
< 2. Vehicle ventilation technology
« 3 Variable valve timing
< 4. Vanadium valve technolo

1213409663
Option 11D : 2134092650
Option 2 ID : 2134092652
Option 31D : 2134092649
Option 4 ID : 2134092651

Status : Not Answered
Chosen Option : --

_— _

Q; A four - stroke engine produces one power stroke in rolutions of the crankshaft.

Ans X 1.
X 2
~ 3.
v o

b = Oy oo

Question ID : 213409656
Option 11D : 2134092624
Option 2 ID : 2134092623
Option 3 ID : 2134092622
Option 4 ID : 2134092621
Status : Answered
Chosen Option : 4

°é7 A diode conducts current in:

Ans  of 1. one direction
X 2. two directions




X 3. three directions
< 4 no direction

Question ID : 213409647
Option 11D : 2134092585
Option 2 ID : 2134092586
Option 3 ID : 2134092588
Option 4 ID : 2134092587
Status : Not Answered
Chosen Option : --

Q; Thereare  types of Gas Turbines.

Ans X 1. One
« 2 Four
X 3 Two
&< 4 Three

- Not Answered

&7 A Vernier depth gauge is us
Ans o 1. depth of a blind hole
X 2 internal diameter

#< 3. pitch diameter

X 4 external diameter

Question ID : 213409633
Option 11D : 2134092531
Option 2 ID : 2134092530
Option 3 ID : 2134092532
Option 4 ID : 2134092529
Status : Answered
Chosen Option : 1
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